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c_ k'Flhut vr{ cG/ut sfo{gmdx?
11.3.262 gg?é?t/%z]ﬁ;t ?f\;‘vgf_F;]afanf] nflu P:Llh b 31121|;+Vof 1 4.04 20 1 4.04 20
db/sG6]g/ !),gfO{6«flhg 6«fG;kf]6{ sG6]g/ %),-
11.3.10.195 |g[lif{ v]Itsf] ;fy} I;rfO{ k|of]hg / kz' IrlsT;f ;DjGwL 31122(;+Vof 1 10.09 50
pks/Of tyf d]lzg/L cfthf/_
l;d]g k|zflwg ;DjlGw d]lzg/L cf}thf/
afof]lklmh/,c6f]Snf]e,I81:6n]zg Knf06, jf6/afy ,-s[lif{ )
131009 1 itef] -y} LrfO{ Klof]hg /kz' IrsT:f :DjGwL pksfof | H22[Ver 1208) 5985
tyf d]lzg/L cfthf/_
11.5.42.26  [sd{rf/L cfjf; r'Ixg] 5t dd{t -Igld{t ejgsf] ;D/rgf ;'wf/_ 31161(;+Vof 1 2.02 10 1 1.01 5
S k'Flhut vr{ sfo{gmdsf] hDdf 28.22| 139.85 5.04 25.00
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gm=;+= lziffs OsfO. Wt dflxgfsf]| dixgfsf] | ;Ddsf] |s}kmot
of | ef/ | ah]6 | kl/dfof | ef/ ah]6 K|ult Kjult  |hDdf k|ult
cf_ |rfn' vr{ cG/ut sfo{gmdx?

1114 [f=k=l4lto -:yfoL sd{rf/L _ 21111|hgf 1 139| 687 0 0.53 2.64
1115 [f=k=t[lto -:yfoL sd{rf/L _ 21111| hgf 4 435 2158 0 1.67 8.30
1.1.1.6 [f=k=cg+ K|yd -k|f_ -:yfoL sd{rf/L _ 21111 | hgf 4 3.81| 18.86 0 1.46 7.26
1.1.17 /f=k=cg+ l4lto -k|f_ -:yfoL sd{rf/L _ 21111 |hgf 3 2.72| 1347 0 1.05 5.18
1.1.1.25 x=;=rf kffrf} -:yfoL sd{rf/L 21111 1 0.85 4.2 0 0.33 1.62
1.1.1.30 sf=;= kfFrf} tx -:yfolL sd{rf/L _ 21111 | hgf 3 246 1217 0 0.94 4.68
1.2.2.2 :yfoL sd{rf/Lsf] dx+lu eQf -dx+uL eQf 21132|hgf 16 0.73 3.6 4 0.24 1.20
1.2.8.3 rf8 Kj{ tyf kinf] kx/f eQf-1zz' :0fxf/ eQf_ 21139|dIxgf 12 0.05 0.26 1 0.02 0.08
1.3.1.1 Ighfdlt sd{rf/Lx?sf] kf]zfs vr{- sd{rf/L kf]zfs_ 21121|hgf 15 0.30 1.5

1.6.4.1 sd{rf/Lsf] ofjubfgdf cfwflit ljdf sf]if vr{ 21213|hgf 16 0.16 0.77 4 0.04 0.19
29.211 hf/sf] Ikpg] kfgL -ljh'nL dx;'n_ 22111 10 0.07 0.36 4 0.02 0.12
21213 :rh_gz_g(n?ﬁj kjll;‘ ?_{g;:ffg tyf sfoffno klofhgsf nflu |~ | dixgf | 208 10.22| 5067 4| 333 1650
2.16.1 6]nLkmf]g dx;'n-6]nLkmf]g dx;'n_ 22112|dIxgf 2 006 031 0 0.02 0.10
2163 ;'raf clwsf/LnfO{ dfl;s 6]nLkmf]g vr{ - 6]nLkmf]g dx;f 22112|?= 1 0.02 0.12 1 0.01 0.04
21638 0G6/g]6 dx;'n-6]nLkmflg dx;'n_ 22112|dIxgf 25 0.06 0.3 1 0.02 0.10
2172 ili;fO{8 gljs/Of -Od]n+OG6/g]6+a]j;fO{8 22112|k6s 17 005 026 1 0.05 0.26
2.2.2.9 rf/ kfeu|] ;jf/L ;fwgsf] nflu Ogwg-Ogwg sfof{no k|of]h| 22212 1560 0.31 1.56 520 0.10 0.52
22211 df]6/,fO{snsf] nflu k]6«f]n -OGwg sfof{no k|oflhgsf] | 22212(In6/ 1140 0.26 1.29 300 0.09 0.43
2.2.2.23 6«]s6/sf] nflu Ogwg -Ogwg sfof{no k|oflhgsf] nflu_ | 22212(In6/ 1200 0.24 1.2 400 0.08 0.40
2.22.130 lao{ pTkfbg k|ofluzfnf tyf In=gf= pTkfbgsf] nflu h]g)/] 22212|In6/ 8880 2.02| 10.03 2600 0.71 3.50
2.2.3.9 Uof; 1;In08/sf] nflu -Ogwg,cGo_ 22314|yfg 10 0.02 0.1 4 0.01 0.04
23.12 xn'sf ;jf/L ;fwg ddft - fjf/L ;fwg dd{t_ 22213|In6/ 082  4.04 2 0.40 2.00
2.3.1.3 b'Of kfu|] ;jf/L ;fwg dd{t vr{ -;jf/L ;fwg dd{t_ 22213 0.20 1 2 0.10 0.50
2.3.2.140 k|of]zfnfsf] ljo{ K|zflwg d]lzg/L cfthf/ tyf h]g]/16,df]6/ | 22221|k6s 12 2.42 12 4 0.81 4.00

sDk|]z/ tyf cGo dd{t ;+ef/-d]z]g/L cflhf/ dd{t ;+ef/_
232141 |+ef/_ 22221 3 0.61 3 1 0.20 1.00
2412 kgkgLsf tyf k':ts vi/b -sfof{no d;nGb ;dfg vr{_ 22311|dIxgf 10 0.04 0.2 3 0.01 0.06
0414 sfof{nosf] nflu :6]zg/L,6f]g/ tyf cGo ;dfg -sfof{no 22311|K6s 10 0,61 3 1 0.20 100
d;nGb ;dfg vr{_
2.4.15 sfof{no ;DjGwL vr{ - sfof{no d;nGb ;dfg vr{_ 22311 3 0.30 15 1 0.10 0.50
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2.4.1.7 aflif{s k|ltjlbg k':tLsf 5kfO{-sfof{no d;nGb ;dfg vr{_ 22311 1 0.08 0.4 1 0.08 0.40
2.5.2.99 In=gf=Knf06 ck|]6/ -lj1 / ;Nfxsf/ ;]jf _ 22411 |hgf 3 3.05| 1512 1 1.01 5.00
253293  |On]IS6«s knDj/ tyf ;"6j]o/ ck/]6/-;]jf cGo_ 22411|k6s 2 0.48 2.4 4 0.16 0.80
2.5.3.336 In=gf=Knf06 aflif{s -d]G6]g]G; _ 22411|k6s 1 2.02 10
2571 I/Qm /X]sf] ;jf/L rfns ;]jf s/fl-dJogmL s/f/ 22413|hgf 1 058  2.86 1 0.20 1.00
25.7.5 s/f/df Ix]sf] sfo{/t sd{rf/Lx?sf] kflzfs vr{ -JogmL s/f/ | 22413|;+Vof 2 0.04 0.2
2.5.8.68 In=gf= tyf ljo{ ljt/Of X]eL ;jf/L rins -s/f/ ;]jf_ 22413|j6f 1 0.66| 3.5 0.20 1.00
271115  |/fuf] ;f9]sf] Joj:yfkg -tof/L ;dfg vi/b vr{_- 22521(;+Vof | 13 7.03| 34.84 2.02 10.00
JLo ;+sngsf] nflu pks/Of vi’b -Ple, nfO{g/, sf]Of _-
171185 fioen dfg vilb vi{_ - 22521(k6s 1 0.40 2 1 0.40 2.00
2.7.1.153 In=gf= vi/b -tof/L ;dfg vi/b vr{_ 22521In6/ 30000 6.05 30 10000 2.02 10.00 2250 0 2250
2.7.1.196 hd]sf] ljo{ pTkfbg -tof/L ;dfg vi/b vr{_ 22521 ;+Vof | 200000 4.04 20| 100000 2.02 10.00| 10194 13761 23955
2.7.1.245 l;d]g :6« vi/b -tof/L ;dfg vi/b vr{_ 22521 ;+Vof | 250000 2.52 12.5| 250000 2.52 12.50
2.7.2.266 In=gf= ;+rfngsf] nflu cfjZos kg{ n'lals|6 slidsn tyf 22521(In6/ 3 2.02 9.99 1 0.67 3.33
T OIGhg cfo/n vi/b-sRrf kbfy{tyf cGo ' ’ ' ’
2.7.3.268 In=gf= pTkfbg -tof/L ;dfg vi/b vr{_ 22521In6/ 70000 3.25 16.1 20000 1.01 5.00[ 1400 7065 8465
cg'udg,d"Nof«?3sg tyf sfo{gmd sfo{Gjog e|dOf vr{ -
2.8.1.68 cg'udg,d"Nof«asg ti/,ff sfoigmd sfoEG}og e:dOf vr{L 22611(k6s 39 087|  4.33 13 0.25 1.25
2.8.1.70 vr}_—cg'udg,d"Nof«asg tyf sfo{gmd sfo{Gjog e|dOf 22611|k6s 12 057| 281 4 o019 0.95
vr
In=gf= tyf jLo{ Ijt/Of ug{ hfbFfFsf] vr{ -
2.8.1510 cg'gdg,gfl{lofigsg tyfi:{fo{qmd sf]o{éjog e[dof vr{_ 22611(k6s 50 205 10.18 15 0.61 3.00 1 3 4
2.9.18 JTIL ;fwg tyf kz' kG5L ljdf -ladf ;fj{hlgs ;Dklt_ 22214|k6s 4 0.36 1.8
2.9.6.1 sfof{nodf b}lgs |rofkfg VI’{ -|rofkfg VrL 22711(k6s 30 0.06 0.3 10 0.02 0.10 2 2 4
2967 Igoldt :6fkm a}7sdf x'g] Irofkfg vr{ -lrofkfg vr{_ 22711 |dIxgf 12 0.12 0.6 4 0.04 0.20 1 1 2
2.9.93 k"nhf cfhf vr{ -cGo__ ljljiw vr{_ 22711(k6s 2 0.08 0.4 2 0.08 0.40
2.9.9.71 ljof ;+sng tyf k|zflwg tyf :6fkm Irofvfhf -cGo ljliw 22711|k6s 100 0.30 15 33 0.10 0.50 3 9 12
V_ rfn* vr{ sfo{gmdsf] hDdf vr{ 71.78| 355.80 26.16 129.65
100.00( 495.65 31.20 154.65













